THIS DRAWING IS UNPUBLISHED.

RELEASED FOR PUBLICATION 20

(C) coPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

PERFORMANCE DATA

PHYSTCAL DATA
Contact Arrangement: Main Contacts
Dimensions

Weight (Nominal)

Coil Information / Operate Voltage:

Coil Resistance @ 20°C

Operate Voltage @ 20°C

Release Voltage @ 20°C

Minimum Hold Current at Temperature
(Must operate @ 12V for 100ms before
reducing to minimum holding current)

Operate and Release Time
Operate Time Max

Operate Bounce Max
Release Time Max

Operate and Release Time
Shock Ilms /2 sine (operating)

Sine Vibration, 206 peak
Operating Temperature Range

SPST-NO-DM (I Form X)
See Drawing
0.9 Ibs (410 g)

3. 14 ohms £ 5%

6.5 Vdc (Max)

0.5 Vdc to .5 Vdc (Range)
650mA

40ms
Sms
| Oms

206G peak
55 - 2,000 Hz
-40°C to +85°C

TO AVOID OVERHEATING,
(12V) FOR A LONG PERIOD OF TIME.

THE MINIMUM HOLD CURRENT OF 650mA
OF 20°C (MAX).

FOR ANY OTHER [NFORMATION,

THE COIL ABOVE SHOULD NOT BE LEFT ON AT FULL POWER

(MENTIONED ABOVE)

ONLY PRODUCES A T-RISE

Loc DIST REVISIONS

FX 00 [ryom

DESCRIPTION

DATE

DWN

APVD

B3 REVISED PER ECO-13-003464

26FEB2013

0D

AL

PLEASE REFER TO THE EVZ200 GENERAL CUSTOMER DATASHEET.

—E= ~—— 1 .05+ .01
[26.06/4+0.26]
M8 x 1.25 POWER TERMINALS
(Hardware Supplied):
2 x M8 Washer, Stainless
2 x M8 Lockwasher - Split Ring, Stainless
2 x M8 x 1.25 Nut, Stainless
M~ Torque 80 to 100 in-1b (8.8 to 11 Nm]
Al "+" POSITIVE TERMINAL
A2 "-" NEGATIVE TERMINAL
7 20D
©; I
(@O OHH2())
7 ‘ y
Mounting Hardware (Not Supplied): @225 £.01
2 x M5 Bolt [5. 72 +£0.26]]
2 x M5 Lockwasher | |
2 x M5 Narrow Washer 4 g
Torque 15 to 30 in-Ib [1T.7 to 3.3 Nm] R
Coil Wire 15 22AWG
with 15.30390] Length
@2.294+.0°? ~~—— 72.688 +.01 —&=
[58.19 +0.51] [68.28 +£0.26]
L ] L ]
— |.=L| |.=L| —
% l | 5
2.20 +£.025 S y N y
[55.81 +£0.63] > 85 4+ 0?25 1]
(/2.3 +£0.63] '
@2 05+ 02 —= — A
[52.0 +£0.51] [T~ aREL
I _]
C—— C —]
— .50+ .01
[12.6 +£0.26]]
~ 3.1 74+.01 —_—
[80.48 +£0.726]
12V UN-ECONOMI/ZED
2098371721
PART NUMBER
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN 2OMAYZ0T0
DIMENSTONS: TOLERANCES UNLESS A LEE
OTHERWISE SPECIFIED: APVD 25MAY2010 [nNaME
INCHES [mm] PQMJEQC RELAY, EVC500 SPST-NO
R T RELAY, EVC500 SPST-NO
@g 2 PLC +. 0] _
3 PLC +- APPLICATION SPEC
4 PLC +- o B SIZE CAGE CODE |DRAWING NO RESTRICTED TO
MATERTAL AF’\IIﬁILSEHS - WEIGHT A 200779 @ 2098372, 1 _
_ - Cus%omer quwing SCALE w . 1 SHEET OF REVBB

1471-9

(3/711)



T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

